
2016 

run, : J }tours 

Full J.fa,A:s : 75 

X£V(Jl-f)-DCA(2) 

Cand,datts arr ,rquirrd '" gii;� /heir ansutrs in their 

own words as far as proclicablt. 

Tnt qutstlons on of tquo/ ,-a/ue. 

Anrwtr flf1J' ffrt qut.rllon.r, i,1 wlliclr 

qutslion 110 I is compuls<>l)I. 
l. Choose the correct answer of lhe follO\\ing : 

(a) When a computer is first turned on or resrartcd. 
a special type of absolute loader C4Jled : 
(i) Compile and go loader 
(ii) Boot looder 
(iii) B001 strop IOO<kr 

(iv) Rcl:iting loader 

(b) \Vhich of the following is not a p3rt of the 0/S ? 
(I) Supervisor 
(ii) Performance monitor 

(iii) Job control program 
(iv) Input/our 

7117/2112 (I) (Tum over) 

( c) \Vhich one of the following is not n layer of OS ? 
{i) KcmaJ 
(ii) Sbell 

{iii) Application program 
(iv) Critical selection 

(d) Which is not a fWlction of O/S? 
(i) Memory management 
{ii) Disk management 
(�ii) Application management 
(iv) Virus protection 

(c) UNIX is a: 
(I) Multitasking O/S 
(ii) Multiuser multitaski 0/S ( •.. ) . 

ng 
111 Single user O/S 

(iv) None 
(f) Which is not Ute cond·f 

(.
) 

• •on of deadlock ? 1 Hold& Wait 
(ii) No pre-emption 
(iii) CriticaJ section 
(iv) Mutual exclusion (g) Which file is used t 0 Write the diffi of Fox pro progra,n? ercnl types 
(i) Rcpon file 
{ii) Label file 
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(iii) Programm file 
(iv) Index file 

(h) The ma."<imum field width of characters field is: 
(i) 125 (ii) 261 

(iii) 250 (iv) 254 

( i) Which command display only the cWTCtlt record 

of the current database file? 

(i) List 
(ii) Display 
(iii) Insert 
(iv) Append 

(j) ? Round (1234.6, -2) returns the value: 
(i) 1250 (ii) 1230 
(iii) 1200 (iv) J240 

2. \Vhat do you mean by operating system? What are 
the various function of an operating system ? Explain. 

3. \Vhat are the benilits of 3 multiuser operating system 

as agaist a single user operating system. 

· 4. \Vhat is meant by preemptive scheduling? How does 

it affect the system performance vis-a-vis non-

precmtive secheduHng ? 

s. What is UNIX operating system ? What are the 

advantages of wing unix OS over other os . 

(3) . (Turnover) 

6. Wh:n do you meill\ by database mrutagcment system ? 
E.-q,bin in details about database file,second and field. 

7. Explain the difference between the following : 
(a) Edit and Browse 

(b) Display and list 
(c) DclCLe and pack 
(d) APJ>Cndandappendblank 
( c) Accept and input 

8. Wlut do you mean by sorting and indexing? Describe the advnn12ncs and d. •�-' -·-o t.-,,11ntnges of mdcx over son· 9. \Vlut is a loop? \Vhy it is n��"'"'"' . h 
ing. 

. ----/ tn l C program? Explain the different looping statements in Fo . . 10 w· 
xpro. • ntc short notes on any two of the f ollowins (a) Memory maruigemcnt 

(b) Computer in automation 
(c) File miln.lgem,nt 
(d) ?, ??, ??? commands 
(c) Foxpro level designing and . . P,nhng 
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